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Do not open this booklet unless you are instructed to do so

Before attempting the paper, carefully read out all the Instructions and Examples given on
Side 1 of the Answer Sheet (OMR Sheet) supplied separately

At the start of the examination, please ensure that all the pages of your Test booklet are
properly printed; your Test booklet is not damaged in any manner and contains 100
questions. In case of any discrepancy, the candidate should immediately report the matter
to the invigilator for replacement of Test booklet. No claim in this regard will be
entertained at the later stage.

An OMR Answer Sheet is being provided separately along with this Test booklet. Please
fill up all relevant entries like Roll Number, Test Booklet Code etc. in the spaces provided
on the OMR Answer Sheet and put your signatures in the box provided for this purpose.
Make sure to fill the correct Test Booklet code on Side 2 of the OMR Answer Sheet. If the
space for the Booklet Code is left blank or more than one booklet code is indicated therein,
it will be deemed to be an incorrect booklet code & Answer Sheet will not be evaluated.
The candidate himself/herself will be solely responsible for all the consequences arising
out of any error or omission in writing the test booklet code.

The Test Booklet consists of Twelve (12) pages containing 100 questions. Against each
question four alternatives A, B, C, D are given, out of which only one is correct. Indicate
your choice of answer by darkening suitable circle with BLACK/BLUE BALL POINT
PEN in the OMR Answer Sheet supplied to you separately. Use of Pencil is strictly
prohibited. More than one answer indicated against a question will be deemed as incorrect
response.

The maximum marks are 100. Each question carries one mark. There will be negative
marking and each wrong answer will carry minus one by four (1/4) mark. The total
time allocated is 120 minutes.

Do not fold or make any stray marks on the OMR Answer Sheet. Any stray mark or smudge
on the OMR sheet may be taken as wrong answer. Any damage to OMR Answer Sheet
may result in disqualification of the candidate.

On completion of the test, candidate must hand over the OMR Answer sheet along
with the QUESTION PAPER to the invigilator on duty in the room/hall.

Use of mobile phones, any other electronic gadget and calculators etc. are not allowed
Keep all your belongings outside the examination hall. Do not retain any paper except
the ADMIT CARD, prior to entry into the Examination Hall.
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10.

1.

Which one of the following is NOT a greenhouse gas?

A) Ozone 1L,B')/Chlortne

C) Methane D) Nitrous Oxide
The book ‘Family Life’, which won the 2016 International Dublin Literary
Award has been authored by which one of the following?

A) Amish Tripathi B) Shantanu Guha
&) Akhil Sharma D) Mrinal Jain
Gondwana hills are located in which one of the following State?
A) Himachal Pradesh B) Jammu and Kashmir
C) Nagaland \,D-)’Madhya Pradesh

Put the following mass communication media in the sequence in which they
came to India, starting from the earliest to the latest?

1. Radio

2. Television

3. Films

4. Printing
A 4312 B) 1,3,2,4

C) 24,31 D) 1,432
Which one of the following is at the apex of the three-tier system of
Panchayati Raj system in India?

A) Gram Sabha B) Gram Panchayat
\})/ Zila Parishad D) Panchayat Samiti
Which one of the following gas is used for refrigeration purposes?
A) Chlorine B) Sulphur dioxide
C) Phosphine .\/D)/Ammonia

Humidity of the air :
increases with the increase B) decreases with the increase in

in atmospheric temperature atmospheric temperature
C) is not affected by the change D) does not show any consistent
in atmospheric temperature behaviour with the change in

atmospheric temperature
In which one of the following states of India, has the Government decided to
make minimum education qualification compulsory for the contestants of

local body polls?
A) Punjab \,Er)@ryana
C) Himachal Pradesh D) Guijarat

Which of the following is not a Fundamental Right?
A) Right to equality ight to property

C) Right against exploitation D) Right to freedom of speech and
expression
The Finance Commission is appointed after every years,
A) 2 B
C) 7 D) 10

Which of the following choice will replace the question mark “?’ symbol?
LTSK : MUTL : : (?) : OWXP
A) LTUM B) NMUV

_SYNVWO D) NOWV
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12. In a coded language SHOP = 8256, WORK = 9573 and HOME = 2541 then
what would be the code for SMOKE?

84531 B) 83451
C) 84351 D) 85431
13. How many number of triangles are there in the given figure?
X
Q
Y 3 Z
A) 9 B) 11

C) 10 iz
14, Jester is related to Fool in the same way as Larrikin is related to

A Hooligan B) Saint

C) Dancer D) Musician
15 Choose the word which best expresses the meaning of the word ‘LAMENT".
A) Console B) Condone
Complain D) Comment
16. Pick up the correct option for the following?
Wave: Crest : : : Peak
A) Water B) Top

C) Moving \D)/ﬂountain
17. Deepak said to Ravi, “That boy playing football is the younger of the two
brother’s of the daughter of my father's wife”.How is the boy playing football
related to Deepak?
\ Brother B) Brother-in-law
C) Nephew D) Cousin
18. Arrange the given words in a meaningful order:
1: Rain 2: Vaporization 3: Water 4 : Condensation 5: Cloud
A) 1,32 4,5 _Br73.25, 4,1
C) 6,3,4,1,2 D)2 3,5 41
19. Choose the option which will replace the ‘?" in the following:

' [P
-

A) A B) B

\LBrce D) D
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21,

22.

23.

24.

25.

26.

Choose the option which will replace the ‘7" in the following:

o

A B £ D
/ %
] TE
A) A BB
C) C D) D

A train travelling at a speed of 75 mph, enters a tunnel which is 3.5 miles
long. The train is 0.25 mile long. How long does it take for the train to pass
through the tunnel from the moment the front of the train enters the tunnel to
the moment the rear of the train emerges ouf of the tunnel?
A) 2.5 minutes VB%.O minutes
C) 3.2 minutes D) 3.5 minutes
A sum of money amounts to Rs.9800 after 5 years and amounts to Rs.12005
after 8 years, at the same rate of simple interest. What is the rate of interest
per annum?
A) 5% B) 8%
LY 12% D) 15%
The percentage profit earned by selling an article for Rs.1920 is equal to the
percentage loss incurred by selling the same article for Rs.1280. At what
price should the article be sold to make a profit of 25%7?
A Rs. 2000 B) Rs. 2200
C) Rs. 2400 D) Rs. 2600
Two tailors X and Y are together paid a total of Rs.550 per week by their
employer. If X is paid 120 percent of the amount paid to Y, then how much is
Y paid per week?

A) Rs. 200 By Rs. 250

C) Rs. 300 D) Rs. 350
The calendar for the year 2007 will be the same for which one of the following
year?

A) 2015 B) 2016

C) 2017 \_Pr2018

A grocer has a sale of Rs.6435, Rs.6927, Rs.6855, Rs.7230 and Rs.6562 for
5 consecutive months. How much sale must he have in the sixth month so
that he gets an average sale of Rs. 6500 for the six-month period?
Rs. 4991 B) Rs. 5991
C) Rs. 6991 D) Rs. 7991
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29.

30.

31

32.

33.

34.

35.

36.

37.

A can finish a work in 24 days, B in 9 days and C in 12 days. B and C start
the work, but are forced to leave after 3 days, from whereon A takes over to
finish the remaining work. In how many days will A finish the remaining work?

A) 5 days B) 6 days
10 days D) 11 days
The sum of how many terms of the series 6 + 12+ 18 + 24 + ... ... is 18007
A) 20 B) 22
24 D) 26

If"a man can row three-quarters of a kilometre against the stream in
11.25 minutes and down the stream in 7.5 minutes, then what would be the
speed (in km/hr) of rowing by the man in still water?

A) 3 km/h BY 5 km/h

C) 7 km/h D) 9 km/h
The monthly salaries of Ravi and Sumit are in the ratio 2 : 3. When the salary
of each of the two is increased by Rs.4000, then the new ratio becomes 40 :
57. Considering the above scenario, what is Sumit's present salary?

A) Rs. 17,000 B) Rs. 20,000

C) Rs. 25,500 Rs. 38,000
‘FIIT’ o AT feaut feamu g

A) SHAS B) o=

c) fear by Tem
‘PMUHS’ T ANTATOES feasy 92

A) WUEUE B) SE&H
_ ‘/e)/ﬁwea D) ARH'E

‘S5t © fed wivw § ‘22T IR, g, ni9g O
A) Fer By efos
C) g9 D) AW

J=-Tud ferme fat yarg © d¢ 987

A) T By TS

< D) &

Ut g fovz oot faost fadt & =93 it et 9
A) T=ETRT oyt
C) IHs D) B3¢

5 for feamut feg” gu mee-A3 92

A) IS \)ﬂ/ﬁ'mi’??

C) IS D) dmrs
5 fou feamut feg" At ANTHT Faw 98
A) TI-TIH B) Ua-5dd
V@/ TI-THH D) J-aHET
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43.

44.

45.

46.
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48.

a3 Hee ‘94’ HET © AHGTOET dT 97
A) B A
C) MERR D) Hdl
‘Y H¥E T A 9Y <96 OF:
\)yﬁ B) 3%
C) D) g
‘339t T ¥ T AJt AHTHT HEE ©R:

A) 33TES ﬁa—w

C) 333-T3& D) 3395
Fill in the blank with the correct option:
He is too important a person any delay.
to tolerate B) for tolerating
C) with tolerating D) of tolerating

Fill in the blank with the correct tense:

It raining since morning.
A) is being \,BY%S been

C) have been D) will be

The idiom “a bone of contention” means:
A) by fair or foul means B) to be always quarrelling
C) arude, noisy assembly VD)/a cause of dispute

Fill in the blank with the correct preposition

Terrorists live the gun all their life.
\)()/by B) for

C) with D) on

Which one of the following sentences has the correct punctuation marks?
A) Today is Tuesday June B) Today is Tuesday, June, 10th

10th, 2016. 2016.
Today is Tuesday, June D) Today is Tuesday, June 10th,
10th, 2016. 2016
Fill in the blank with appropriate group of words:
The noise my sleep.
A) interferes in B) interferes into
C) interferes by VB‘)/ interferes with
Choose the right synonym of the word Congenial.
A) Unhygienic B) Old age
2) Suitable D) Debar
Change the speech:

He said to his father, "Please increase my pocket-money."
A) He told his father, "Please B) He pleaded his father to please

increase the pocket-money" increase my pocket money.
\};ﬂ-le requested his father to D) He asked his father to please
increase his pocket-money. increase his pocket-money.
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54.

55,

56.

o7.

58.

59.

Change the voice of the sentence:
Who is creating this mess?

A) Who has been creating this B) By whom has this mess been
mess? created?
C) By whom have this mess By whom is this mess being
been created? created?
Choose the right antonym of the word ‘Exodus’.
A) Home-coming ‘_/Bf)/lnflux
C) Return D) Restoration

With which one of the following view, can you see as to how text and graphics

will appear on the printed page?
A) Normal M’int Layout

C) Outline D) Web Layout

A is a collection of predefined design elements and color schemes.
A) feature B) hyperlink
C) palette theme

In MS office applications, which sequence of operations will one perform if it
is needed to move a block of text from one place to the other?

) Copy and Paste B) Paste and Delete
vczf Cut and Paste D) Paste and Cut
Which of the following is NOT a font style, in MS office application?
A) Bold B) ltalics

C) Regular \)«)/guperscript
In MS Excel, except for which one of the following functions, a formula with a
logical function would show the word “TRUE” or “FALSE” as a result?
A) AND \}Y IF
C) OR D) NOT
Long text can be broken down into many lines within a cell. This can be done
through which one of the following?
Wrap Text in Format >> B) Justify in Edit >> Cells
Cells
C) Text Wraping in Format >> D) All of the above
Cells, Layout tab
Getting data from a cell located in a different sheet is called .................

A) Accessing \/B')/Referencing
C) Updating D) Functioning
A numeric value can be treated as label value if ...... precedes it.
Apostrophe ( “) B) Exclamation (!)
C) Hash (#) D) Tilde (~)

To return the remainder after a number is divided by a divisor in EXCEL,
which one of the following functions should be used?
A) ROUND () B) FACT ()
_srfop () D) DIV ()
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67.

68.

69.

70.

What does the VLOOKUP function do?
A) Looks up for V' in the B) Checks whether text is the same

elected text in one cell as in the next
\)Z(Iiinds related records D) Hides V' character words in the
selected text

The first Individual Satyagrahi, Acharya Vinoba Bhave offered Satyagraha in
which one of the following ways?

A) By not paying taxes B) By burning British Flag
By making an antiwar D) By making a speech against the
speech Viceroy of India

August 9, 1925 is known in the Indian History for which one of the following
incidents?
A) Chauri Chaura incidence \/Bﬁ(akori train robbery
C) Jallianwallah Bagh D) The seize of Cawnpore
incidence
“Hazur Sahib” Gurudwara, which is one of the five takhts of Sikhism, is
located at which one of the following places?
A) Amritsar B) Patna
27 Nanded D) Bhatinda
Which one amongst the following is regarded as the “Maker of Modern India?
A) M. G. Ranade B) Mahatma Gandhi
C) Keshav Chandra Sen \/B')’Ram Mohan Roy
Apart from India, in which of the following two countries, is Tamil an official
language?
A) Mauritius and Malaysia B) Malaysia and Indonesia
C) Sri Lanka and Mauritius \,D%Iri Lanka and Singapore
Sabarimala is located in which one of the following Indian states?

Kerala B) Karnataka
C) Andhra Pradesh D) Tamil Nadu
Which among the following scholars in the Mughal Court alleged that Akbar
was an_enemy of Islam?
\/()/;adauni B) Niamtullah
C) Abbas Khan Sarwani D) Nizamuddin Ahmad

Who amongst the following was a devotional saint and a cobbler by
profession?

A) Tulsidas B) Surdas
\/(21/|I?avidas D) Malukdas
Which one amongst the following is the capital of Austria?

Vienna B) Helsinki

C) Berne D) Canberra

V. G. Jog, a famous Indian classical instrumentalist, is an exponent of which
one of the following instrument?
iolin B) Sitar
C) Sarod D) Shehnai
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79.

80.

81.

82.

With which one of the following sport is the famous Indian Olympian, Aditi
Ashok, associated?

A) Hockey B) Gymnastics
\/O/golf D) Shooting
Which amongst the following is the first port that was developed after
independence in Gujarat State of India?

A) Kutch B) Smarla
C) Porbandhar DY Kandla

Kanchenjunga is situated in which one of the following Indian state?
A) Himachal Pradesh B) West Bengal

C) Assam P Sikkim
Who amongst the following has been awarded the prestigious ‘Templeton
Prize’ for the year 20167

A) Aung San Suu Ki B) Tomas Halik
Jonathan Sacks D) Jean Vanier
Who amongst the following is the author of the famous book ‘The Naked
Triangle™?
Balwant Gargi B) Amrita Pritam
C) Bhisham Sahni D) Narinder Singh Kapur

How many total gold medals did Michael Phelps, an American swimmer, won

at the Rio Olympics 20167
A) 4 Brs

C) 6 D) 7
The Paris agreement of the United Nations Framework Convention on
Climate Change is to limit global warming well below

A) 1.0°C B) 1.56°C
2.0°C D) 25°C
Donald Trump is the Presidential nominee of the of the
United States of America.
A) Democratic Party \,Bﬁ?epublican Party
C) Libertarian Party D) Green Party
Which one amongst the following is the largest museum in the world?
A) Vatican Museums B) State Hermitage Museum
Louvre Museum D) National Museum of China

‘Yakshagana' is a dance-drama form of which one of the following states of
India?

A) Kerala B) Gujarat

C) Tamil Nadu Karnataka
Francois Hollande is presently the President of which one of the following
country?

A) The Netherlands \/B’)éance

C) Greece D) lItaly

Which one amongst the following was named the ‘World's most powerful
person of 2015’ by the Forbes magazine?

A) Angela Merkel B) Malala Yousafzai

C) Barack Obama Py Viadimir Putin
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The world's oldest operational space launch facility is presently located in
which one of the following countries?
A) Ipdia B) Russia
Kazakhstan D) France
In which one of the following country, it is mandatory for all male citizens aged
18-27 to serve for one-year in the Armed Forces, except some legal excuses
for non-conscription from the law?

A) Yemen B) Canada
C) lIsrael Russia
Which one amongst the following countries is NOT the member of BRICS?
South Korea B) Russia
C) China D) India

Al-Jazeera TV Channel belongs to which one of the following countries?
\)r)/ Qatar B) Kuwait
C) Egypt D) Bahrain
The Iran—Pakistan gas pipeline is also called the :
A) FEriendship pipeline B) Future pipeline
\/O)/Peace pipeline D) Unity pipeline
The River Thames is located in which one of the following country?
\ﬁe)/éngland B) France
C) Austria D) Finland
According to 2014 statistics, which one amongst the following is the most
populous city in the world?
A) Beijing B) Buenos Aires

C) Shanghai \/Da/Tokyo

What is the full form of EVM?

A) Election Validation Machine B) Electronic Validation
Management
\yﬁectronic Voting Machine D) Early Voting Machine

Area wise, which one of the following is the largest Lok Sabha Constituency
of India?

A) Kutch B) Kangra

C) Patna Sahib \_Dy Taddakh
The right to vote in India is given to all people on the basis of

Age B) Education

C) Religion D) Property
Which among the following countries was the earliest to give women the right
to vote?

A) Iceland B) India

C) USA \,D‘)/I\?ew Zealand
When is the ‘National Panchayati Raj Day’ observed in the state of Punjab?

A) 13" April \)yﬁth April

C) 1% May D) 1%t November
‘Chitta Lahu'’ is written by which one of the following authors?
A) Gurbax Singh B) Amrita Pritam
C) Khuswant Singh \})/Nanak Singh
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96. What is the script in which the 'Dasam Granth’ has been written?

A) Devnagri B) Urdu
\Q)/G?erukhi D) Persian
97. Punjab leads in the production of which one of the following citrus fruit?
A) Orange B) Lemon
C) Grapes \p#)}{innow
98.  The confluence of Sutlej and Beas is located at which one of the following
places?
A) Nangal B) Roop Nagar
Hari-Ke-Pattan D) Sirhind
99. What was the child hood name of the fourth Sikh Guru Ram Das ji?
A) Bhai Lehna \B) Bhai Jetha
C) Hari Das D) Suraj Mal
100. The ‘Punjabi Sahitya Academy’ is situated at which one of the following
places?
New Delhi B) Amritsar
C) Patiala D) Jalandhar
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